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JHEEEHIA Xgsls 2208 9,397 20,987 A11,590
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= 1,410
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OJHE=S Ikt =S 2 08 9,397
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OJHE ="k €l Al HEXES 10,000
Il 10,000
IHEEZHEESAE JIsEL 12,500 6,210 6,290
) 6,250
& 3,125
Al 3,125
402 QI”F X201 & 12,500 6.210 6.290
Jl 6,250
< 3,125
Al 3,125
02 QI TH2AILEE (01X THE) 12,500 6.210 6.290
ONEEZHESAIE JIsEZ 12,500
Jl 6,250
s 3,125
Al 3,125
ZA0IH A FHXZAIE ZILUESS 1,557 2,992 A1,435
J| 1,557
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Il 92,965




SN OEIIET
33 odIE =Asd
el oldel Asd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 53,056
Al 61,819
307 lztol & 207,840 201,379 6.461
Jl 92,965
== 53,056
Al 61,819
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= 845
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= 845
Al 845
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Jl 12,740
= 2,730
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Il 12,740
== 2,730
Al 2,730
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Od==0loi Xt 2l=H| 18,200
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== 2,730
Al 2,730
FHANE AEBS KR (KE) 37,080 36,360 720
= 11,124
Al 25,956
307 elztol & 37,080 36,360 720
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HEZHUIHAKHAIE SAA SE SO A2 9,200 9,200 0
== 2,760
Al 6,440
307 212+01& 9,200 9,200 0
== 2,760
Al 6.440
11 AMEISXIAEEES 9,200 9,200 0
O EZLUHAKZAIE SAHL SEF0L
Hl XI& 9,200
= 2,760
Al 6,440
SHERIIE SAAY 9,014,288 9,261,236 A\246,948
Il 5,762,835
= 1,137,028
Al 2,114,425
SHRLRIIES &SHl S X& 7,104,670 7,416,216 A311,546
) 5,683,736
S 710,467
Al 710,467
301 EtE NS 7,104,670 7,416,216 A311,546
Jl 5,683,736
< 710,467
Al 710,467
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s 710,467
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s 3,510
Al 3,510
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Jl 38,110
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Al 11,433
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Al 835,598
301 2eEN= 50,000 24,000 26,000
= 7,500
Al 42,500
02 MBI 2HHSFHS(HAANS, XLHE) 50,000 24,000 26,000
ORRIIE=ANANE EATNNEEES
A& 50,000
= 7,500
Al 42,500
307 @12t01 & 938,666 880,113 58,553
== 145,568
Al 793,098
11 AMRISXAEEES 938,666 880,113 58,553
OSRRIESIANE 2SI (L2 XHE) 408,09
< 61,214
Al 346,881
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= 3,564
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OstRZ2IIE=IIAE AU Z&8l X2
(HO0HZ2XHE) 1,500
== 450
Al 1,050
OtRR2IIE=XAE Al 288 X
(D1&2oteA) 800
= 240
Al 560
OBIR2IIEF=RAIE J1FIIsZE
BOXE (JH2XHH) 6,000
== 1,800
Al 4,200
OeRIZIIE=RAIE JIHIIsS st
BOXH (OIB825HRA) 2,250
= 675
Al 1,575
AE gaXt 48 - Xz XE 18,166 19,624 A1,458
Il 9,083
= 6,358
Al 2,725
307 elztol & 18,166 19,624 N 1,458
) 9,083
< 6,358
Al 2,725
11 AMEISXAEEES 18,166 19,624 1,458
OAIE ALt HEXIZXE(OIE25HRA) 5,500
Jl 2,750
< 1,925
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OAlE 24X QZHIXIR (O1&S o) 5,666
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Al 42
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= 1,148
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Jl 3,826
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Al 42
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OF AL R13Hl E9H] 900
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Oss2= & HA 15,098
oJIR=s 13,200
odfot=ER=s 1,848
oAt B3t 50
Od= =Al2sl 2,500
206 M=l 1,000 1,000
01 MHZHI 1,000 1,000
OE=lz S &3 7Y 1,000
Hddel AlRlus X3 228,328 284,908 A56,580




of
i’
oF
uJ

S|(< ©
| g |88 gl (8|7 8 R
nd ~ 8|38 ~ s
_A_uﬁ_v MR
e
E=]
S| olw|w
2|8 ¢ S |88 NIEIE |88 g g8 |°
= - N 18|83 Y S ,
LH 3 q | N S
uiled
RIS
IR 83838 8K 8 S 8B 8 8|8 N
88898888888 88)88 § SJY8YRIRSBREBERBERET BB E|E
— - O Ol D — @ w | w - R S S o)
= T |IRIS & s R|B|HB|H3 S [&™ - 1 N X - )
al
<
S
K 70
o Y z
X 3 5 !
® :|_o 2 2 I
3 7 X T o 5
H.Al =1 &M oL OFJ 0 %0
o+ ok opop X 80 g8 8 Al @ o
= e 2 0t s g A w0 —
= & ] % _ ) < . 0 Ko
. - M O o o Al W E= RO -
= ) I 30 [ n K zZ
= E._Q_OA._ of B . = bl ¢+ = 0fr &0 Kl HO
ol - Yw M s ° o=@ |<| |ma R " O
= 2= F ma o S TR T O T =1 Rl mn 2R < <
oF |_|_ = ulo "R _ o5 _ = © 9 |3 /= ol g R oo o
n N EN = w3 D & we (o | o - I |5 ml=|= I TR R _ M ook of 3 uo
Dl 2 .~ 8 ol O 3 <l O DR 5 00 30 S W | o|D g H 30 M = = f — |5
- %m_ﬂa%%mwoocﬂww@gW_%M_TAT ki MlEM%M:_ﬁ%w_lw__womm%om%% = | ur
; . 0 m < O <F A = 0 = i L A = Ouu‘_m_m_ur_;lqlur.rjA._ Ao == o
BHSEEE S SRR E E R R e E E P EER R
* — |~ m ol | < o) N HH..NlLI
z |55 00 PP00y00g0g1x0 @lzls Olglz ©00 008400 °° 5|2 Olg
® RS QI° =) SRS o
I+ ) Q¢ Si




AT HEIED
Hu: 4= =2XEX
=2l EsSEY & ALRIEHEN EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AL =S F=HI 3,820 0 3,820
oulloi=d &l 764,000 *5H 3,820
HEFHUHFLEAMNY 95,520 82,120 13,400
S 27,564
Al 67,956
307 @120l & 95,520 82,120 13,400
== 27,564
Al 67,956
02 LB AANHEE 95,520 82,120 13,400
OCdFHEIA NS WS 4,000
[ 2,000
Al 2,000
OJIgH UHESRD =AY 4,000
= 2,000
Al 2,000
O0EaIsIg SFIMEA 10,000
== 5,000
Al 5,000
OFgaA S 238 X2 30,600
< 9,180
Al 21,420
OMZHE BIEa MM
(QI2t2lE MHIH) 46,920
=S 9,384
Al 37,536
MeHE XNE=2S 1,220,161 1,076,652 143,509
= 796,510
= 179,344
Al 244,307
307 @I2t01 & 1,220,161 1,076,652 143,509
= 796,510
= 179,344
Al 244,307
02 2IZHBYAIHE A 1,220,161 1,076,652 143,509
OMZ0 gl 425,600
= 340,480
= 42,560
Al 42,560
OXgu=sd 117,500
= 117,500
Og1=gl 14,629
= 7,314
< 3,658




od
i’
oF
uJ

-

KIO

Hlw

A 14,600
14,600
A14,600

460

10,940
A940
A300

MEE
Ofl &k2h

173,000
173,000
173,000

129,120

8,800

48,600
15,160

Ofl &F2H

3,657
324,822

Al

fir

162,411

H

48,723
113,688
278,760
139,380

69,690

69,690

58,850

29,425

Al

fir

H

Al

fir

H

14,713
14,712
158,400
95,000
63,400
158,400
95,000
63,400
158,400
158,400
95,000
63,400
129,580

Al
Jl
Al
Il
Al
J|
Al

700
128,880
37,660
14,220
8,500
2,000
1,600
1,500
800
2,100

- HyS

- SRA(E) - HIRAY

S - B

30
OH
Ed

ar

01 Al&H|

401 Al HIZL S 0HYI

®
R

3

5

400,000 *2

100,000 +202
200, 0002 42152

INI=IA(ESs

01 AFS2t2ltl

7l
a0

R
&

2640

6,360

3,440

500
5,720
1,220

4,500

3,440

SFEAl 2™ iz

t2 g

H
AN X
(=]

o4

[

O

03




o
il
T
uJ

o
n0 B
o o
E 2|2 NS S o
< (@)
4| < < < Mu ololo
° S
e glg |§|8|8
A 8|8 S| s S 8 S
RIS RN % m :%u S
Sle | g S
= glgle
s 8 8§ — =
) w © m slsls
NS 818
3 el < k=]
Oﬁ — | o - > I | o m
< QIR & L9 <2 S S 8
< g ]|8|<¢|x S 3 5 98 8
S N - 2 A2 < 318
e S~ Rl A S 818 8
© o5y oS~ m LS8 8
IMFIF & N = M 2 m m S slsls
—|—|—| O ©
ol —
[N 110y 0
al a
A L
% gag o % W <
0 * ol Jal o H =
1 n® P re & S T 5 | W= W =
: +8 @3 Eo®m g 4 3 y =
3D e BS o n 5 = O
== ® FE ] S 3 8 _
I - oo e oS T @
x o) — oD > mw.o_.Oy 3 5
. K = 5= o = By
= & O, a_| o ?_o 1 A_l > g
= GDLoom ar o0 3l 3 oF
ol D% 8 T 31 o s de 5
S P ol = 5 M o " . =
i > o K| I K | or £ w0 8
E R 5ol | 120 o s @ |- o P om
il ME iKJ ®) <k oy ) 0D _ < H|W|=]|= 9|: ok oH ul | — AN ) 00 = 4
.__Ano = .._Auo ._.mo xr _.__.m._ ﬂ;mul _A|‘_ Mo ﬂh _____. D |- = o_=_ HM um) . _mo B0 = _.7\_
i EUS =% n = |5 7 ®|= ol ® O = 8@ = M = 7 | i 3 5 =
- O CUNS] = Als X = |oy|f o 3 z0 <0 D IF /| 80 0 7
X — O O S™ o |nd A EIC) = 2 % 8la = 5 T ® N
Ik © ol (el & |m o/ |0F A nu W - ok Bz =) _ ok Ok i 7~
wwo_ﬂo___Am_u <0 zowﬁ_réwwo_g 50 £ e <R
™ Klo|o O O do o ® B W w 70 | oK oH n ulo A |D = 00 R
| o O O << 5 | m H m |30 |73 0 B0 o
SE B0 — < ol | D) St 80 =
X e oF B 0
o S = O HEIEE T Bl <
o0 e D= 5% 03
w|&|[° O
%0




od
i’
oF
uJ

38 81388 S 218 < S S S 81818 8 S
< | =|d S S|s ! D o S|a|e S S
- N~ < (aV] () N )] Y] Yo} Y] oo | O
R %93 3 3|9 d % d = b & &
E
E=)
S 218|8 S 818 S 8 8 S 288 8 8
] SIS S S|s S il o o sSia|s S S
NE B3| & 5|8 = 8 8 8 SEIE S 2
u_.ﬁmm& o | ~ ~
RIS
S 8383|3188 888888 3I33I83383838383|I83838|I8388|I8888|8|8(|8 I8 8 8 88 8
S S S esa v S S S E S BHISISS S S S IISS SIS SIS S S 3Iggle SIS S S|S S
SEBhgBT T TN gYegBEEr oYY RECRINECEIRIEIR RlggdElgE
mﬁ w0 — [ep 1 lep) NN — — N — [N
<
=3
=< H=<| W= H =< MW=
iy
38
5
o oy
v 7z 7 il
; 0y R = - = o8
S o0 10 o 30 ol
= g W kR 2 = 2%
< K K 3 . m . = -
I Ko ol (w D 50 W 3 2| w0 i
= oM = Wl = = 08 = < = X
< TR Wy o o = - [ g DS
- E M N = (L 2 = CIN wo| (oL o
= E I I o £ R wl B =
o ol yr o m N %%mma o W o g S| |l
F o 20Ty Rl F 08 ol G ¥ Bl B g
= ul o oo | it =
oJ HMMM%%HM@N::@%EMN@N@ o RCOf =R o
. ol el G A T N T I S~ B i R m| (g il
= o ® UKoy w0 S|p|p RS ww oW i M © Z|H|H = |m i
R | Alafop UMM S =5 Wgm I W 5 W2 3 o OF Slallm 0 | 2
R (2 Az MR RS RS Ol MO m S oW ol < Blalz @ |5 ol
H iy o |Oo S o 1O — o S et Jo i Re] o o
K0 K| ™ Ok ™ 0O ol ™
u_.M____ = 80 i e
|




SN OEIIET
33 doE =Asd
ol SMEHAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 162,000
Al 418,000
01 A2 HSHS(RNEERTH) 2,320,000 2,052,000 268,000
oxggolEz 2,000,000& *1, 160 2,320,000
= 1,740,000
< 162,000
Al 418,000
22018 & G238t X 5,960,991 5,888,704 72,287
= 12,000
Jl 1,228,179
= 515,305
Al 1,876,024
H 2,329,483
22018 & U238t X3dH 1,443,356 683,880 759,476
Il 721,678
== 216,503
Al 505,175
307 212+01& 1,443,356 683,880 759,476
7l 721,678
S 216,503
Al 505,175
05 glt?(& = 1,443,356 683,880 759,476
OZZIHE & U=2ehtE XJEdH 29 1,443,356
Jl 721,678
= 216,503
Al 505,175
FALERLD Otse=Hl N2 24,000 48,000 A\24,000
= 12,000
= 4,800
Al 7,200
301 LEetE N = 24,000 48,000 /24,000
= 12,000
= 4,800
Al 7,200
01 Al EEABZ2(2DEEMR) 24,000 48,000 A\24,000
OE2ERI Ots2=H| XA 24,000
= 12,000
< 4,800
Al 7,200
FRNE 5,000 5,000 0
= 1,500
Al 3,500
307 el2to| & 5,000 5,000 0




AT HEIED
2 ddiE =088
ool 21201E ¥ URsiE N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,500
Al 3,500
05 2ItRIE = 5,000 5,000 0
OuZst I =4 220 X2 5,000
= 1,500
Al 3,500
CHEshtE Y2 usAHIA 260,352 349,885 89,533
Il 130,176
= 39,053
Al 91,123
307 elztol & 260,352 349,885 89,533
) 130,176
< 39,063
Al 91,123
05 2ItRIE = 260,352 349,885 89,533
OLHE3ts Y2 usAHA 260,352
Jl 130,176
< 30,053
Al 91,123
CrEsbtEAE Aoge X2 121,770 118,032 3,738
Jl 60,885
== 18,265
Al 42,620
307 212+01& 121,770 118,032 3,738
Jl 60,885
=S 18,265
Al 42,620
05 git?(& = 121,770 118,032 3,738
OLHE3EIE Sloge K& 121,770
Jl 60,885
= 18,265
Al 42,620
ZE0/2N SHA MHIA X 102,300 65,626 36,674
Jl 51,150
= 15,345
Al 35,806
307 gl2to| & 102,300 65,626 36,674
Jl 51,150
= 15,345
Al 35,805
05 212t S 102,300 65,626 36,674
OZ 012k SHAAHIA N 102,300
) 51,150




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 16,345
Al 35,805

ol=20 Jt=ad & d 109,540 70,062 39,478
Il 54,770
< 16,431
Al 38,339

307 lztol & 109,540 70,062 39,478
Il 54,770
== 16,431
Al 38,339

05 2ItRIE= 109,540 70,062 39,478
O0IS 20 ItHatE ZgAte 109,540
Jl 54,770
=S 16,431
Al 38,339

ZE0/12X SR 24,500 24,500 0
Il 12,250
= 3,675
Al 8,575

307 @I2t01 & 24,500 24,500 0
Jl 12,250
= 3,675
Al 8,575

05 212+ =S 24,500 24,500 0
OZ&012Xt S 24,500
Jl 12,250
= 3,675
Al 8,575

CHE3EXE THI2 AL 425,963 475,440 N4, 477
= 136,289
Al 289,674

301 Eet2 NS 52,380 0 52,380
== 15,714
Al 36,666

14 JIEt2 8= 52,380 0 52,380
OUR2IEXAME SAIL SX=2 52,380
= 15,714
Al 36,666

307 el2tol & 373,583 475,440 A101,857
= 120,575
Al 253,008

05 212t =S 373,583 461,280 N\87,697
OUR22IEXAME SAEIIAYI S =E 61,466




SN OEIIET
2 ddiE =088
ool 21201E ¥ URsiE N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 18,440
Al 43,026
O22¥ Ui=8tg 24 130,000
= 45,500
Al 84,500
OU=ZatE O8LS0l At 29,400
== 8,820
Al 20,580
OZ =012kt THEXE SEA 20,000
= 8,000
Al 12,000
OZE012A =8FS IS 9,000
S 2,700
Al 6,300
OLZ30IF2I 2l AHEH 2T 123,717
[ 37,115
Al 86,602
Q=els=exX 25,000 25,000 0
= 14,500
Al 10,500
307 el2to| & 25,000 25,000 0
= 14,500
Al 10,500
05 git?(& = 25,000 25,000 0
O=el=t NSdx gs5d & 10,000
== 10,000
O2A=0l YL 2 15,000
=S 4,500
Al 10,500
CteebhE =ter etoteg 11,700 13,000 1,300
307 212+01& 11,700 13,000 21,300
05 2ItRIE = 11,700 13,000 A1,300
Ott=3td =g etiteg 11,700
CtE3ts X 97,600 100,000 22,400
307 elzto| & 97,600 100,000 22,400
05 2I2tRIE S 97,600 100,000 2,400
OSAHL SE=I1I 10,000
OXERE =FHXIEAHY 18,000
OCt2=htE NEiL=0l 33,800
O=M=2s58 XA 2,500
Ot=23rd M el . ZEMXI 9,000
OXx=Z2Y gdat N2 6,300




SN IS

mo: 0iEDiE =XSE
el H2ONE W CH2siiE X (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| ot=siEs2uy 18,000
JIEEHE 0HEXE 49,836 47,000 2,836
307 elzto| & 49,836 47,000 2,836
05 glzt?(&= 49,836 47,000 2,836
OIIZHE FojoIN 49,6%
Ct2&tAtel X3 9,600 13,700 A4,100
201 =3 9,600 13,700 A4,100
01 AtR2te|Hl 9,600 13,700 24,100
OUi=sIE HHIY BReE 2,000
ouILEHCAB FlH 3,600
OLIZ0l 228 M 4,000
CtRel(6adltss2) A8 2,329,483 3,000,000 A670,517
T 2,329,483
401 Al HIZL 01| 2,329,483 3,000,000 670,517
XH 2,329,483
01 AlZ8| 2,329,483 3,000,000 670,517
otseloiadissR) 2 2,329,483
T 2,329,483
CH22H0|F=R 2 ANE 2 45,000 42,800 2,200
201 fer= 3| 45,000 42,800 2,200
01 AtR2tc|HI 37,800 36,800 1,000
OAIR4 gtz 36,000
OReEHI2= 1,200
OJIEH Al 600
02 S3=4gl 7,200 6,000 1,200
OeleHHARs 480
GENT-E! 1,920
ONIIR3 4,800
N=2ZEHES 2 314,419 255,748 58,671
101 @124H| 157,589 149,118 8,471
M ORIMZZ2NSE S 157,589 149,118 8,471
O&AIZ offd ¥ T2 A BX 157,589
SIEE B0, 3202146 <222+ 28] 127,227
oFFE 80,3203 »6& 52 25,060
(CE=PNEnd=y 80,3206 * 11 5,302
201 er23 | 111,710 63,510 48,200
01 At2teltl 19,860 22,860 A3,000
OIIHHBE et 448 1,800
OABAY HS)ISHY, FEEUEY 1,600
Oagotd A WF 200
OJtaotdze] e =2 300
OBA 2012l S 1,560




AT HEIED
2 ddiE =088
crel: 2201E U OR23iE X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Od=)| gtz 1,200
OAs & flddtel S5 1,200
OFE2EZ5 S 78 1,200
OAREE 7 (8Xl, SEADIARE 3) 1,800
OU=2ated Mg & +=d 2,000
OLIZ3t2A SEdat 1T 1,000
Ot=2d st S22 78 6,000
02 S3=gHl 41,850 40,650 1,200
Oo&IIe3 22,800
Odote=Er= 1,800
Ooelgues 600
OA NS 2] 50
OAld=E RAE=HI 10,000
OZSHI0IXl 2ct*E W L HIERD 0185 5,400
OTAIZ It & 24 B8= 1,200
03 A= I 50,000 0 50,000
O==2=32 N8 & 5% S gA 50,000
206 MH=H| 6,000 6,000
01 M=4l 6,000 6,000
ONMEZZIHEE Mz 2 6,000
301 22N = 39,120 37,120 2,000
4 JIE2 8= 39,120 37,120 2,000
OUZst 223 ZAH|
40,0003 x16A| 2H+45=+ 12 30,720
OJ18lZ2 8 2HAt| 6,400
Oti2=ta g JtHl tolz2s ZHS% HE 2,000
ZH5Uol 0108 EsAld 22 279,112 266,804 12,308
Il 185,770
= 30,656
Al 62,686
307 gl2to| & 279,112 266,804 12,308
) 185,770
= 30,656
Al 62,686
11 MEISXAEEXS 279,112 266,804 12,308
O==4lldh 0I1F0d 2ESAlE 2gXE 279,112
Jl 185,770
< 30,656
Al 62,686
ZA0IoH0I=0E BSAIE EAX NEXES 11,500 5,000 6,500
Jl 11,500
307 212+01& 11,500 5,000 6,500




SN OEIIET
33 odIE =Asd
ool 21201E ¥ URsiE N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 11,500
11 AMEISXAEEXS 11,500 5,000 6,500
OZHIlol OIF0d EsAIE EAX XE
AEs 11,500
Jl 11,500
OlOI==20| HZH &l K& 5,280 4,470 810
=S 1,584
Al 3,696
307 @I2to| & 5,280 4,470 810
== 1,564
Al 3,696
05 2ItRIE = 5,280 4,470 810
OOtoI==20| AZzd8Hl XA 5,280
& 1,584
Al 3,69%6
10001 = otd &2 XZ0l At 17,240 0 17,240
= 5,172
Al 12,068
307 gl2to| & 17,240 0 17,240
=S 5,172
Al 12,068
05 git?(& = 17,240 0 17,240
O120t5 =J{otd &2XZ 0l Ard 17,240
& 5,172
Al 12,068
SS=0LisH cI22d X2 25,000 0 25,000
= 7,500
Al 17,500
402 212t X+=01 & 25,000 0 25,000
= 7,500
Al 17,500
02 QI XHE AL E R (01X THE) 25,000 0 25,000
Oss=0tL=H 228 X3 25,000
== 7,500
Al 17,500
Zdlol 0IF0E ESAIE SAHA =¢ 13,440 0 13,440
= 4,032
Al 9,408
301 EtE NS 13,440 0 13,440
= 4,032
Al 9,408
14 DBt 2 a3 13,440 0 13,440
OZHIloll OIF0d ESAIE SAA =E 13,440




SN OEIIET
2 ddiE =088
ool 21201E ¥ URsiE N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,032
Al 9,408
Cteel & BlAEESE AIEHEAY 210,000 210,000
401 AIEHIX S0 210,000 210,000
01 Al&H| 210,000 210,000
OCtal 2 2= AIEHEAY 210,000
=33SH S8 17,268,138 14,816,327 2,451,811
= 4,143,515
[ 3,012,783
Jl 56,712
< 3,232,777
Al 6,822,351
SEsy =5 I 7,977,763 6,091,926 1,885,837
= 4,143,515
[ 424,816
Jl 56,712
== 933,115
Al 2,419,605
<clits =S&sSH At 197,580 167,580 30,000
307 212+01& 167,580 167,580 0
05 2ItRIE = 167,580 167,580 0
O=clliz =853H 24|
27,930,000 *60H 2 167,580
402 212t X201 & 30,000 30,000
01 QI X2 AL E R (KEHITHE) 30,000 30,000
O=Rclite == JIs2Z 30,000
SSF0tU=sE 2 113,424 110,388 3,036
Il 56,712
= 22,685
Al 34,027
307 el2to| & 113,424 110,388 3,036
) 56,712
= 22,685
Al 34,027
05 21t =S 113,424 110,388 3,036
O3s|0tL=sH 23 (2HL) 113,424
Il 56,712
< 22,685
Al 34,027
SSSE0tUEHE AR =2 5,020 4,840 180
= 1,506
Al 3,514
307 el2to| & 5,020 4,840 180




SN OIEIIED
3 =8ssH 58
el X5 =8 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,506
Al 3,514
05 2ItRIE = 5,020 4,840 180
OSSF0LIsH SAHL SX+=g 5,020
= 1,506
Al 3,514
orolEs XN& 5,919,307 4,346,010 1,573,297
= 4,143,515
= 710,316
Al 1,065,476
301 EtE N = 4,300,000 2,607,606 1,692,394
= 3,010,000
< 516,000
Al 774,000
01 AR E2EHSFS(RNEERTHE) 4,300,000 2,607,606 1,692,3%4
OO0t0ISSXIJ At 4,300,000
= 3,010,000
< 516,000
Al 774,000
307 glztol & 1,619,307 1,738,404 A119,097
= 1,133,515
== 194,316
Al 291,476
05 2ItRIE = 1,619,307 1,738,404 A119,097
OooI=sXNE 249l S 1,619,307
= 1,133,515
=S 194,316
Al 291,476
O0ISSAMHIA TR 900,000 840,000 60,000
301 2EN= 900,000 840,000 60,000
02 MBI 2HEHSFHS(HAANS, XLHE) 900,000 840,000 60,000
Oo0toISEAMHIA & X2 900,000
oY ety E3+2 N2 26,400 24,000 2,400
= 7,920
Al 18,480
307 gl2to| & 26,400 24,000 2,400
= 7,920
Al 18,480
05 glt?(& = 26,400 24,000 2,400
OO0I0I=20| Eot==+¢ X3 26,400
== 7,920
Al 18,480
CIati SS4E 2/24d] X 567,632 500,388 67,244




AT HEIED
3 =8ssH 58
&t EE =5 A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 283,816
=S 141,908
Al 141,908
101 21AH| 73,272 71,484 1,788
[ 36,636
= 18,318
Al 18,318
04 JIZtN2 2N S 2+ 73,272 71,484 1,788
OUBMES SAK 0124H] N (X)
73,272,000& 1A (D1 E) 73,272
[ 36,636
= 18,318
Al 18,318
307 @120l & 494,360 428,904 65,456
s 247,180
= 123,590
Al 123,590
10 Al SXAAEEHE 22X 494,360 428,904 65,456
Ol H=sdH SAHL 128 X123
(el2t=lE) 73,272,000& 60 2 (D1 &) 439,632
[ 219,816
= 109,908
Al 109,908
Ol H=s4dEH SAHL 128 X3
(eI2t=lE) 27,364,0002 +2J0 & (&1 77) 54,728
[ 27,364
= 13,682
Al 13,682
Cietll =sdH 28l X2 92,000 84,000 8,000
[ 46,000
= 23,000
Al 23,000
301 LEtE N = 12,000 12,000 0
[ 6,000
= 3,000
Al 3,000
14 IIEt2 83 12,000 12,000 0
otgnssdH 2gH(SEgsZ20d
2ZAHHI) 12,000
= 6,000
< 3,000
Al 3,000
307 elztol & 80,000 72,000 8,000
= 40,000




SN OIEIIED
3 =8ssH 58
&t EE =5 A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 20,000
Al 20,000
10 Al SXAEEHE2EHI2x 80,000 72,000 8,000
otgnssdeE 28 X&AOIE) 72,000
= 36,000
< 18,000
Al 18,000
Ootgnss4dE 28l XA (&) 8,000
= 4,000
== 2,000
Al 2,000
CIENESSHE SAHAG SE¢ 12,000 11,520 480
= 2,400
Al 9,600
301 EtE N = 12,000 10,080 1,920
= 2,400
Al 9,600
4Bt 23 12,000 10,080 1,920
OUEN=SSHE SAHA SExE
(RI2+2(E/800 ) 12,000
== 2,400
Al 9,600
CIENSSHE SAA S22 4,400 3,200 1,200
= 880
Al 3,520
301 EtE N = 4,400 2,800 1,600
= 880
Al 3,520
14 DBt 2 a3 4,400 2,800 1,600
OUigH=s4dH SAHL E&8+8
(DIZtIEH/BI &) 4,400
== 880
Al 3,520
Cat SS4H &Xidl K& 140,000 0 140,000
s 95,000
s 22,500
Al 22,500
402 2I2FXH=201H 140,000 0 140,000
[ 95,000
= 22,500
Al 22,500
02 QI XHE AL E R (01X THE) 140,000 0 140,000
OUsN=ssSHE AXIHI(Ler el2EE]) 50,000




2N H&IE
¥ s=23sH 5
el SEE =3 X3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 25,000
= 12,500
Al 12,500
OUENESSHIE S (SC=E5
/el2adl) 50,000
2 30,000
= 10,000
Al 10,000
OB HSSHE ZXIHI(LEH/IIXHYI) 20,000
2 20,000
OCHE!H S S4B & X1 HI (SICS 8t 3t/ I XEHL 20,000
z 20,000
SS=SNAY X2 9,290,375 8,724,401 565,974
z 2,587,967
& 2,299,662
Al 4,402,748
OlS=X WA THAXIR 296,560 287,280 9,280
2 148,280
= 74,140
Al 74,140
101 Q1A 296,560 287,280 9,280
2 148,280
= 74,140
Al 74,140
M IIZHRI2ERSES 296,560 287,280 9,280
OOFS=XI WA QIHHI(J12HH 162) 296,560
2 148,280
= 74,140
Al 74,140
X =OtSHIE 2| X 802,524 806,326 13,802
2 401,262
= 200,631
Al 200,631
307 I2t0IA 802,524 806,326 13,802
z 401,262
& 200,631
Al 200,631
10 ALBIS XA S E 2HH 2 X 802,524 806,326 13,802
OJ1=22HI(4714) 753,324
z 376,662
& 188,331
Al 188,331
OUHHIE 2¢ gol FI2SHI(170H) 49,200




SN OIEIIED
3 =M 88
ol SSSXAEY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 24,600
=S 12,300
Al 12,300
KSotsdE 2l2id] X 3,983,250 3,535,138 448,112
s 1,991,625
= 995,812
Al 995,813
307 @12t0| & 3,983,250 3,535,138 448,112
[ 1,991,625
= 995,812
Al 995,813
10 Al SXAEEHE 22X 3,983,250 3,535,138 448,112
OXlSotsHIE Al K& 3,983,250
[ 1,991,625
= 995,812
Al 995,813
S4E NA0tsSHH =IKIA 93,600 98,160 24,560
[ 46,800
= 23,400
Al 23,400
307 elztol & 93,600 98,160 A4,560
= 46,800
[ 23,400
Al 23,400
10 Al2ISTIAIEEE 22X 93,600 98,160 N\4,560
OS+=SHE NSF0tsHE FIHAI (8H2)
600,000 +8IH A+ 123 57,600
= 28,800
& 14,400
Al 14,400
OER2E XA0ISHE FIHXA(10042)
300,000 100 A% 123 36,000
= 18,000
< 9,000
Al 9,000
ANS0tsSHE =2 8| 423,900 431,001 AT7,101
= 127,170
Al 296,730
307 el2to| & 423,900 431,001 AT7,101
S 127,170
Al 296,730
11 AMISXAIEEX 423,900 431,001 AT7,101
OXE0tsHde 22088 X 423,900




SN OIEIIED
M =53=sH &
el SSSAAME X2 (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 127,170
Al 296,730
XEotsdle 22l FIHXI&A 28,200 29,400 21,200
& 8,460
Al 19,740
307 212+01™ 28,200 29,400 21,200
T 8,460
Al 19,740
10 Al = XA EHE2FHIE X 28,200 29,400 21,200
OX<0ts4dH 298l =IHKIJ
50,000 #4702+ 12& 28,200
= 8,460
Al 19,740
XNSE0tsHlEe ZaHl XI# 2,700,000 2,400,000 300,000
& 675,000
Al 2,025,000
301 LPENZ 2,700,000 2,400,000 300,000
T 675,000
Al 2,025,000
02 ASIBEESHS(FHLHS, NSME) 2,700,000 2,400,000 300,000
OXN<Y0tsHIe SAaHl XA 2,700,000
T 675,000
Al 2,025,000
NSE0tsHH JIsE22 A 85,000 235,000 A150,000
& 85,000
402 QI+ Rt=01H 85,000 235,000 A150,000
T 85,000
02 QIZEXH2 AL 2 (01 TH &) 85,000 235,000 A150,000
OXOtSHE ) I sEBZAIE (ZF=21E0{ 0
&F) 85,000
T 85,000
XG0S HE SALA = K& 240,040 211,880 28,160
& 48,008
Al 192,032
301 LPENF 240,040 211,880 28,160
T 48,008
Al 192,032
03 A B &E 262 (RIY M) 186,840 170,280 16,560
OSAAL M2IMAB(SE2H) 186,840
= 37,368
Al 149,472
14 J|EI2 43 53,200 41,600 11,600
OSSN &Y 200,000 *133H *23 53,200




AT HEIED
BH: sE2eH ZX
ol SSSXAEY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,640
Al 42,560
KS0tsHIE! SAHAL 2148 F=IHXIJ 206,801 168,816 47,985
= 62,041
Al 144,760
301 EtE NS 206,801 168,816 47,985
=S 62,041
Al 144,760
02 ARSI 2E A S(FANS, XLETHE) 206,801 168,816 47,985
OXIE0lSHE SAHL 2128] =IOtXI& 206,801
< 62,041
Al 144,760
Or==X 23 230,100 240,200 210,100
307 elztol & 230,100 240,200 210,100
04 QIZHHAMAMH 2 & 4,500 5,000 A500
OXNSOtSHE MU=l ALK 4,500
1 AMEISXAIEEXS 225,600 235,200 29,600
OXSotsHE SAER0 N 225,600
NS 0ISHE SX+=g X2 91,800 120,000 A\28,200
301 22N = 91,800 120,000 A\28,200
14 JEt2a s 91,800 120,000 28,200
OXlgotsHlEe SX+=g K& 91,800
KNS 0ISHE SAL &I125+E K& 108,600 121,200 212,600
301 EtE NS 108,600 121,200 A12,600
14 IIEt2 8= 108,600 121,200 A12,600
OXSO0tSHE SALA D] & 108,600
A S AL 717,880 697,013 20,867
= 41,302
= 33,832
Al 642,746
A2SAL N2 &2 2E 717,880 697,013 20,867
= 41,302
= 33,832
Al 642,746
KRS AHE 22 (X)) 575,000 562,530 22,470
307 el2to| & 575,000 552,530 22,470
03 PIZHNEE 22X 575,000 562,530 22,470
OXHESAHIE 23HI 575,000
AESAHAE 24dH] XA 50,000 50,000 0
== 15,000
Al 35,000
307 212+01& 50,000 50,000 0




SN OIEIIED
g TH2SA
=2l THESA NE $ 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 15,000
Al 35,000
11 AMEISXAEEES 50,000 50,000 0
OXNSAIE 2| X2 50,000
= 15,000
Al 35,000
NASAH 25 XE 2,575 3,275 AT700
201 fet= 3| 2,575 3,275 AT700
01 AtR2te|H] 1,675 2,275 A600
O2sMEs =3 HZF3&E
5,50021*50H 275
OX2SAL I8 2823 600
OXNESAIEHH 2t53 223 800
03 A=Y 900 1,000 A100
O3S ALY NHESME: 2EES 900
d= SE ANESAMEE I MHlA X2 16,283 18,302 2,019
= 8,141
= 3,257
Al 4,885
307 gl2to| & 16,283 18,302 A2,019
= 8,141
= 3,257
Al 4,885
1 AMEISXAEEXS 16,283 18,302 A2,019
O&= S& NASMES It MEIA X 16,283
= 8,141
< 3,257
Al 4,885
A SAH 2CIUI0IE XNI& - 54 66,322 64,906 1,416
= 33, 161
< 13,265
Al 19,8%
307 elztol & 66,322 64,906 1,416
= 33, 161
== 13,265
Al 19,8%
11 AMRISXAEEES 66,322 64,906 1,416
OXS A ZLIUIOIE X1 66,322
= 33,161
=S 13,265
Al 19,8%
S|ALI SIS S AL 2,700 3,000 A300
< 810




SN OIEIIED
g TH2SA
=2l THESA NE $ 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,890
307 gl2tol & 2,700 3,000 A300
=S 810
Al 1,890
11 ARRIS XA E X 2,700 3,000 A300
O3YLt=s IHESAHE 29 2,700
< 810
Al 1,890
APl XEE WsSAH 29 5,000 5,000 0
= 1,500
Al 3,500
307 el2tol & 5,000 5,000 0
= 1,500
Al 3,500
11 AMISXAIEEX 5,000 5,000 0
OOt X=E MssSAMH 289 5,000
== 1,500
Al 3,500
HH2IBJHI(HEIEEL) 857,064 867,033 29,969
= 306,150
S 183,075
Al 397,839
el 2| 835,050 844,473 29,423
= 306,150
< 153,075
Al 375,825
O2ats FxA(Qd23) 74,340 75,540 1,200
101 @124H| 74,340 75,540 1,200
02 JIEtME = 74,340 75,540 21,200
OUtEats &3N3 AIZES M I 38,700
o= 2,560,000 «1H*12& 30,720
oSHMFE 180,000&x1&+12& 2,160
o HSAI 140,000& x 12+ 123 1,680
oXg 2 x| 165,000& x 1~ 123 1,980
otEg 100,000 x 1 * 122 1,200
oy 2I&=H| 45,0003 x1&~12& 540
o ItE | 420
OU20IFSHAEEH AlZHHAS T D]
Ml 35,640
o= 2,475,000« 1H+ 122 29,700
oY A ZAMH| 140,0002x 1~ 122 1,680
oS+MFE 110,000 x1&* 122 1,320
= LeEN 165,000& x 12~ 123 1,980




SN OEIIED
A HYRAZH(HLEIEL)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oy 21 SH| 45,0003 x 1« 123 540
oA ItE a| 420
2Lt 2H(2=23I) 148,410 156,696 N\8,286
101 21A4H| 148,410 156,696 N\8,286
02 JIEtME = 148,410 156,696 28,286
OiZ2 24252t AIZHEERIZDIHI(2HS) 45,181
o2 3,245,650« 1812 38,948
od A ZAMH| 140,000 x1&* 122 1,680
oXg 2 x| 157,5002« 1~ 122 1,890
oS+MFE 141,880 x1&* 12 1,703
othelg=H| 45,0003 18 ~128 540
oA &I 420
Oa=22d 2352t ARSI (0HS) 103,229
o2 % 2,291,000 «3E* 123 82,476
oY HSAHI 140,000& x32+ 123 5,040
oXg 2 x| 153, 1203 x3&~ 123 5,513
otEg 140,000 =2 * 122 3,360
oS+MFE 110,000 x3&* 12 3,960
o2l &t=H| 45,0002 x3&* 12 1,620
oIt &I 1,260
OlSSEXILAL DIHAXIA (12 2HH]) 612,300 612,237 63
s 306,150
s 163,075
Al 153,075
101 ©1AH| 612,300 612,237 63
[ 306,150
= 153,075
Al 183,075
03 SRA(RIH )22 E 4 612,300 612,237 63
OOtsSEXI WA QIAH|(SS 2! 338) 612,300
[ 306,150
= 153,075
Al 183,075
Jl=23sl 22,014 22,560 Ab546
JI=23Hl 22,014 22,560 A\546
201 fer= 3| 17,064 18,960 1,896
01 AtR2t2|HI 17,064 18,960 A1,8%
O=AEX 3,260
OIeH, SADI BEH - =8 29 5,248
OJIEL At 22l 8,556
203 HR=AH] 3,600 3,600
MU A2 LRFEI 3,600 3,600




=M HEIIED
Do BHSAAH| (0I5
el ol (ot

2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
ORN2IYRFA| 300,000& 123 3,600
405 XHAHE SHI 1,350 0 1,350
01 ML =ZFSHI 1,350 0 1,350
OrC 7 1,120

OZLIH ¢ 230




